=

T

1/cdo/dp_ [GeV ]
|_\
(@)

|
o
R

[EEY

Ratio to ATLAS

7000 GeV pp Z (Drell-Yan)

H- T | I I T T 1T | I I I T T 1T | I 9
| —
_ pi (muon channel, bare) — %
= 9=
- — N
— s
I A
—— __d
— |
— R
[ don
— — o
=
= _ED:
= =)
— — ™M
— O
— 1™
- s
| m ATLAS s
= --0-- Pythia 6.428 345 = 2
- i+ Pythia 6.428 346 A=
~ —A— Pythia 6.428 370 7 =
= Pythia 6.428 default gc
— —a— Pythia 8.308 default =
— 2
- 8
o
= =2
ol | L | R | | =
:I T | T T T T T T LI | T T T T T T LI | T T :
— -2
1
I == T —
| —0.5
1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1
1 10

pT(Lr%ZlJmu) [GeV]



	Contents
	Page 1


